

TO VALIDATE, GO TO Certificate Number: GI-COO-50226-66bb518178266 **VERIFY.FTGS.US** Date: August 13, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine	Destination Country	Destination Port
CA USA	China	TianjinXingang
Consignee	Export Date 2024-08-02	Exporting Carrier N/A
channer Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Hohiot Comprehensive Bonded Zone,	Import Permit Number N/A	Bill of Lading / AWB 401410342658
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1521 bales Total: 658.528MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.782mt	United States
Marks: CAAU6908205 49bales		
Alfalfa Hay	22.888mt	United States
Marks: CAAU6908830 52bales		
Alfalfa Hay	21.246mt	United States
Marks: EGHU9447902 50bales		
Alfalfa Hay	21.691mt	United States
Marks: EGHU9842996 49bales		
Alfalfa Hay	21.455mt	United States
Marks: EISU8555788 52bales		
Alfalfa Hay	21.655mt	United States
Marks: EITU1210427 50bales		DAXIII A
Alfalfa Hay	21.337mt	United States
Marks: EITU1383757 49bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-50226-66bb518178266

VERIFY.FTGS.US Date: August 13, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
	Export Date	Exporting Carrier N/A
Consignee	2024-08-02	IVA
nner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A	Bill of Lading / AWB 401410342658
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1521 bales Total: 658.528MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.317mt	United States
Marks: EITU1418745 51bales		
Alfalfa Hay	22.272mt	United States
Marks: EITU1688904 52bales		
Alfalfa Hay	21.673mt	United States
Marks: EMCU8607678 50bales		
Alfalfa Hay	22.344mt	United States
Marks: EMCU8613428 52bales		
Alfalfa Hay	21.147mt	United States
Marks: EMCU8675482 52bales		
Alfalfa Hay	21.546mt	United States
Marks: EMCU8907232 52bales	MANHAMA	
Alfalfa Hay	22.598mt	United States
Marks: EMCU8921919 52bales		

Name of Authorized Trade Association



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-50226-66bb518178266 **VERIFY.FTGS.US** Date: August 13, 2024

Seller (Exporter)	Transport Type Vessel	Port of Loading LOS ANGELES
Healthy Green Life Corporation 43 Corporate Park		
Irvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
	Export Date	Exporting Carrier
onsignee	2024-08-02	N/A
nner Mongolia Shengdehetai Trading Co., LTD station 3E-028, Beixing Lianchuang Center,	Import Permit Number	Bill of Lading / AWB
ohhot Comprehensive Bonded Zone.	N/A	401410342658
Huimin District, Hohhot, Inner Mongolia 010110		HT LLA TI LLAHTI I DAGAXXXX
China	Owner or Agent	Forwarding Agent
	N/A	I N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1521 bales Total: 658.528MT



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lfalfa Hay	22.680mt	United States
larks: EMCU9985456 51bales		
Ifalfa Hay	21.382mt	United States
flarks: GAOU6978040 52bales		
Ifalfa Hay	22.643mt	United States
flarks: MAGU5406086 50bales		
lfalfa Hay	22.262mt	United States
flarks: MAGU5412290 51bales		
lfalfa Hay	22.489mt	United States
farks: TCLU6297173 52bales		
lfalfa Hay	20.793mt	United States
1arks: TCNU2073249 49bales		
lfalfa Hay	22.389mt	United States
1arks: TCNU2123782 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-50226-66bb518178266

VERIFY.FTGS.US Date: August 13, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
	Export Date	Exporting Carrier N/A
Consignee	2024-08-02	IWA .
nner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A	Bill of Lading / AWB 401410342658
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1521 bales Total: 658.528MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.509mt	United States
Marks: TEMU6098672 49bales		
Alfalfa Hay	21.219mt	United States
Marks: TEMU6220116 50bales		
Alfalfa Hay	22.752mt	United States
Marks: TEMU7112266 50bales		
Alfalfa Hay	21.827mt	United States
Marks: TEMU7114823 49bales		
Alfalfa Hay	21.818mt	United States
Marks: TGBU8648340 50bales		
Alfalfa Hay	22.217mt	United States
Marks: TIIU4498935 50bales		
Alfalfa Hay	22.226mt	United States
Marks: TIIU5073468 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-50226-66bb518178266 **VERIFY.FTGS.US** Date: August 13, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
	Export Date	Exporting Carrier N/A
Consignee	2024-08-02	IVA
nner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A	Bill of Lading / AWB 401410342658
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1521 bales Total: 658.528MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.063mt	United States
Marks: TLLU4753035 52bales		
Alfalfa Hay	22.308mt	United States
Marks: TRHU8351660 50bales		
======================================	=====	
		XXXXX
	X X X X X X X X X X X X X X X X X X X	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

COMMERCIAL INVOICE

Invoice No.

SD-202408003

Date:

7/18/24

Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Inner Mongolia

EVER FRONT 1358-027W

Contract No.:

SDHT-HGLC2024-6

Voyage No.: Shipping Line:

Booking No.: 401410342658

Vessel:

Evergreen

USA Country of Origin:

Port of Loading:

LOS ANGELES, CA

Discharge: TianjinXingang, China

ETD: Price Terms: 8/2/24 CIF

9/7/24 ETA:

Container No.	Seal#	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
CAAU6908205	UL-9181173	Alfalfa Supremi	49	21.782	\$390.00	\$8,494.98
CAAU6908830	A1619549	Alfalfa Supremi	52	22.888	\$390.00	\$8,926.32
EGHU9447902	B143028	Alfalfa Supremi	50	21.246	\$390.00	\$8,285.94
EGHU9842996	B143026	Alfalfa Supremi	49	21.691	\$390.00	\$8,459.49
EISU8555788	A1619535	Alfalfa Supremi	52	21.455	\$390.00	\$8,367.45
EITU1210427	A1619583	Alfalfa Supremi	50	21.655	\$390.00	\$8,445.45
EITU1383757	B143025	Alfalfa Supremi	49	21.337	\$390.00	\$8,321.43
EITU1418745	A1619538	Alfalfa Supremi	51	22.317	\$390.00	\$8,703.63
EITU1688904	A1619700	Alfalfa Supremi	52	22.272	\$390.00	\$8,686.08
EMCU8607678	A1619537	Alfalfa Supremi	50	21.673	\$390.00	\$8,452.47
EMCU8613428	A1619530	Alfalfa Supremi	52	22.344	\$390.00	\$8,714.16
EMCU8675482	A1619531	Alfalfa Supremi	52	21.147	\$390.00	\$8,247.33
EMCU8907232	A1619540	Alfalfa Supremi	52	21.546	\$390.00	\$8,402.94
EMCU8921919	A1619533	Alfalfa Supremi	52	22.598	\$390.00	\$8,813.22
EMCU9985456	A1619539	Alfalfa Supremi	51	22.680	\$390.00	\$8,845.20
GAOU6978040	B143029	Alfalfa Supremi	52	21.382	\$390.00	\$8,338.98
MAGU5406086	A1619536	Alfalfa Supremi	50	22.643	\$390.00	\$8,830.77
MAGU5412290	B143027	Alfalfa Supremi	51	22.262	\$390.00	\$8,682.18
TCLU6297173	A1619527	Alfalfa Supremi	52	22.489	\$390.00	\$8,770.71
TCNU2073249	A1619550	Alfalfa Supremi	49	20.793	\$390.00	\$8,109.27
TCNU2123782	A1619545	Alfalfa Supremi	52	22.389	\$390.00	\$8,731.71
TEMU6098672	A1619532	Alfalfa Supremi	49	21.509	\$390.00	\$8,388.51
TEMU6220116	A1619526	Alfalfa Supremi	50	21.219	\$390.00	\$8,275.41
TEMU7112266	A1619541	Alfalfa Supremi	50	22.752	\$390.00	\$8,873.28
TEMU7114823	A1619750	Alfalfa Supremi	49	21.827	\$390.00	\$8,512.53
TGBU8648340	B143030	Alfalfa Supremi	50	21.818	\$390.00	\$8,509.02
TIIU4498935	UL-9161178	Alfalfa Supremi	50	22.217	\$390.00	\$8,664.63
TIIU5073468	A1619587	Alfalfa Supremi	52	22.226	\$390.00	\$8,668.14
TLLU4753035	UL-7723229	Alfalfa Supremi	52	22.063	\$390.00	\$8,604.57
TRHU8351660	B143077	Alfalfa Supremi	50	22.308	\$390.00	\$8,700.12
Total Value:	•	.	1,521	658.528		\$256,825.92

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG



